1 2 3 4 6
02 R1 :’ oD R11 R19 R27
221K pgp 30 o MX1 300 o MYl 300 ow  ON
GND 5 down GND % down GND o down
03 R2 :’ oD R12 R20 R28
Av‘v‘v 9 1
221K pgo 0 - MX2 0 - MY2 0 —° - ON
jown lown jown
GNDH 2 GND——2 GNDH 2
S2 S10 s18
00 R3 ﬁ_k;ND R13 R21 R29
A'A'A' < 9
221K pg3 00 T o w MX3 30 T o w MY 30 —° o w ERRI
GND % down GND i down GND %o down
R4 AA R14 R22 R30
01 A Pp—GND —W\— V3 —wm— Vi —wm— RR?
221K pg4 30 o MX3 300 —o—wMY4 300 o ERXC
iown iown own
R5 A (F?l\ISD 4 gglsD Stz o 520
LIDLE
WA Pp—GND —W— VP —wWw— N
221K pgs 3 o MO 300 o—w MY oy
own lown
R6 A CRsTeD s Cnglle 513
ENABLE " Pp—|GND —W— —w—
221K psg 3 o MX6 300 o MYE
GND down GND down J1 J3
S6 S14 TLP CLK1
R7 A R17 R25
DIR1 AN Pp—{GND —w—__ MXT —w—_ . e e
221K pg7 3 300
GND down GND down T1 N GND
H & H sis
DIR2 R8 A R18 R26 2 u
B D»SB ENID oy —o MX8 P 00— MY8 T2 P CLK2
down down
GNDH ° GNDH =
Ro Py S8 S16 BNC BNC
CCSE wv—Pp—{GND T2 GND
221K pgg 1
+24V +24V
R10 A
CLK2 wv—Pp—|GND
221K psi0
P1 2
GND 2 1 CLK1 GND 2 1 GND
GND___ 4 : : 3___CLK2 MX2 1 : : 3 MX1
GND__6 | g gl 5 DIRL MX4 6 |g @lb MX3
GND__8 g g7 DIR2 MX6 8 | o ol MX5
ERRZ_10 | g o9 ERRL MX8 0 g ¢l MX7
ENABLE 12 | g o [ I LIDLE MY2 2 g ol MY1
o1 14| g @l 13 Q0 MY4 14 g ol 13 MY3
03 6| g @l 02 MY6 6 |g ol MY5
PON 18 | g gl 17 ON MY8 18| g @l il MY7
TIN 20 | g |19 TLP 20 [g ol 19
2N 22 | g g2 T2P 2 [ g o]zt
GND 24 | o g 23 +24V 2 g ol 2
26 25__GND 26 25
® o e o
DB25/male DB25/female
Title
Pico EtherCAT Tester 1
Size Number Revision
3 D1200605 1
Date: 6/12/2012 [ Sheet1 of 2
File: C:\Users\..\Picomotor_ECAT Tester1.Schddrawn By: Paul Schwinberg
1 2 3 4 6




1 2 6
TP9 TP10
GNDGND
H1 Handle, 3" E1 BNC lock washer E6 BNC nut PN15 Front Panel
\ \ | |
H2 Handle, 3" E2 BNC lock washer E7 BNC nut LIGO
\ | ] | ] | D1200637-v1
Mouser E3 BNC lock washer E8 BNC nut PN16 Rear Panel
534-9109 \ | |
H3 Ferrule E4 BNC lock washer E9 BNC nut LIGO
\ \ | | D1200638-v1
H4 Ferrule Newark Newark
78M7215 78M7214
H5 Ferrule
H6 Ferrule PN1  LED lens cap PN6  LED lens cap PN17 DB25 cable, M/F
\ \ | |
Mouser PN2  LED lens cap PN7  LED lens cap Digi-Key
534-9121 \ | | H7VWH-2506G-ND
M1 #6-32 3/8" flat PN3  LED lens cap PN8  LED lens cap
\ \ | |
M2 #6-32 3/8" flat PN4  LED lens cap PN9  LED lens cap PN18IDC header,26pin
\ \ | |
M3 #6-32 3/8" flat PN5  LED lens cap PN10 LED lens cap PN19IDC header,26pin
\ | | | |
M4 #6-32 3/8" flat Newark Newark
90B5681 73K6217
McMaster-Carr
91099A215
H7 Standoff M-F PN23 Jack screw
H8 Standoff M-F PN24 Jack screw
H9 Standoff M-F Newark
80K5431
H10  Standoff M-F
H11  Standoff M-F
H12  Standoff M-F
H13  Standoff M-F H19 Standoff F-F M5 M4-8mm, flat M11  M4-8mm, flat
\ \ | |
H14  Standoff M-F H20 Standoff F-F M6 M4-8mm, flat M12  M4-8mm, flat
\ | | |
H15  Standoff M-F H21 Standoff F-F M7 M4-8mm, flat M13  M4-8mm, flat
\ \ | |
H16  Standoff M-F H22 Standoff F-F M8 M4-8mm, flat M14  M4-8mm, flat
\ | | | |
H17  Standoff M-F H23 Standoff F-F M9 M4-8mm, flat M15  M4-8mm, flat
\ | | |
H18  Standoff M-F H24 Standoff F-F  M10  M4-8mm, flat M16  M4-8mm, flat
\ \ | | |
Newark Newark McMaster-Carr Title
56K3066 56K3039 91420A218 Pico EtherCAT Tester2
Size Number Revision
B D1200605 1
Date: 6/12/2012 [ Sheet2 of 2
File: C:\Users\..\Picomotor_ECAT Tester2.SchDddrawn By:  Paul Schwinberg
1 2 6




